

Jian-Guo Si, Xin-Ping Wang

ANALYTIC SOLUTIONS OF A POLYNOMIAL-LIKE ITERATIVE FUNCTIONAL EQUATION

Abstract. This paper is concerned with a polynomial-like iterative functional equation $\lambda_1 f(z) + \lambda_2 f^{[2]}(z) + \cdots + \lambda_m f^{[m]}(z) = F(z)$, where $f(z)$ is an unknown function, $F(z)$ is a given function, $f^{[i]}$ denotes the i -th iterate of f , and $\lambda_1, \lambda_2, \dots, \lambda_m$ are complex constants. By constructing a convergent power series solution $\varphi(z)$ of an auxiliary equation of the form $\lambda_1 \varphi(\alpha z) + \lambda_2 \varphi(\alpha^2 z) + \cdots + \lambda_m \varphi(\alpha^m z) = F(\varphi(z))$, analytic solutions of the form $\varphi(\alpha \varphi^{-1}(z))$ for the original iterative functional equation are obtained.

Iterative root, seen in [1] and [2], is an important problem in the theory of dynamical systems. As a natural generalization, the polynomial-like iterative functional equations in the following form

$$(*) \quad \lambda_1 f(x) + \lambda_2 f^{[2]}(x) + \cdots + \lambda_m f^{[m]}(x) = F(x)$$

for $x \in R$, $\lambda_i \in R$, $i = 1, 2, \dots, m$, or some special cases were discussed recently^[3-8]. In this note, we will consider the existence of analytic solutions of equation $(*)$ in the complex field. Namely, we consider the equation

$$(1) \quad \lambda_1 f(z) + \lambda_2 f^{[2]}(z) + \cdots + \lambda_m f^{[m]}(z) = F(z),$$

where $f(z)$ is an unknown function, $F(z)$ is a given complex-valued function of a complex variable, and $\lambda_1, \lambda_2, \dots, \lambda_m$ are complex constants (but not all zero).

Assume that $F(z)$ is analytic on a neighborhood of the origin, $F(0) = 0$ and $F'(0) = s \neq 0$. To find analytic solution of (1), we first seek an analytic solution $\varphi(z)$ of the auxiliary equation

$$(2) \quad \lambda_1 \varphi(\alpha z) + \lambda_2 \varphi(\alpha^2 z) + \cdots + \lambda_m \varphi(\alpha^m z) = F(\varphi(z)),$$

1991 *Mathematics Subject Classification*: 39B12.

Key words and phrases: iterative functional equation, Analytic solution.

where α is a root of the algebraic equation

$$(3) \quad \lambda_1 z + \lambda_2 z^2 + \dots + \lambda_m z^m - s = 0$$

and satisfies one of the following conditions:

- (H1) $0 < |\alpha| < 1$;
- (H2) $|\alpha| > 1$;
- (H3) $|\alpha| = 1$, α is not a root of unity, and

$$\log \frac{1}{|\alpha^n - 1|} \leq K \log n, \quad n = 2, 3, \dots$$

for some positive constant K . Then we show that (1) has an analytic solution of the form

$$(4) \quad f(z) = \varphi(\alpha \varphi^{-1}(z))$$

in a neighborhood of the origin. Finally, we show how to derive an explicit power series solution by means of an example.

We begin with the following preparatory lemmas, the proof of the first of which can be found in [1, Chapter 6].

LEMMA 1. *Assume that (H3) holds. Then there is a positive number δ such that $|\alpha^n - 1|^{-1} < (2n)^\delta$ for $n = 1, 2, \dots$. Furthermore, the sequence $\{d_n\}_{n=1}^\infty$ defined by $d_1 = 1$ and*

$$d_n = \frac{1}{|\alpha^{n-1} - 1|} \max_{\substack{n=n_1+\dots+n_t, \\ 0 < n_1 \leq \dots \leq n_t, t \geq 2}} \{d_{n_1} \dots d_{n_t}\}, \quad n = 2, 3, \dots$$

satisfies

$$d_n \leq (2^{5\delta+1})^{n-1} n^{-2\delta}, \quad n = 1, 2, \dots$$

LEMMA 2. *Assume that one of conditions (H1) and (H2) is fulfilled. Then for any $\eta \in C$, the equation (2) has an analytic solution $\varphi(z)$ in a neighborhood of the origin such that $\varphi(0) = 0$ and $\varphi'(0) = \eta$.*

P r o o f. Fix an $\eta \in C$. If $\eta = 0$ then the zero function satisfies the assertion. So assume that $\eta \neq 0$. Let

$$(5) \quad F(z) = \sum_{n=1}^{\infty} c_n z^n, \quad \text{where } c_1 = s.$$

Since $F(z)$ is analytic on a neighborhood of the origin, there exists a positive β such that

$$(6) \quad |c_n| \leq \beta^{n-1}, \quad n = 2, 3, \dots$$

Introducing new functions $\tilde{\varphi}(z) = \beta\varphi(\beta^{-1}z)$ and $\tilde{F}(z) = \beta F(\beta^{-1}z)$, we obtain from (2) that

$$\lambda_1\tilde{\varphi}(\alpha z) + \lambda_2\tilde{\varphi}(\alpha^2 z) + \dots + \lambda_m\tilde{\varphi}(\alpha^m z) = \tilde{F}(\tilde{\varphi}(z)),$$

what is an equation of the form (2). From (5) and $\tilde{F}(z) = \beta F(\beta^{-1}z)$, we have

$$\tilde{F}(z) = \beta F(\beta^{-1}z) = sz + \sum_{n=2}^{\infty} c_n \beta^{1-n} z^n.$$

By (6) it follows that

$$\left| \frac{c_n}{\beta^{n-1}} \right| \leq 1, \quad n = 2, 3, \dots$$

Therefore, without loss of generality, we assume that

$$(7) \quad |c_n| \leq 1, \quad n = 2, 3, \dots$$

Let

$$(8) \quad \varphi(z) = \sum_{n=1}^{\infty} b_n z^n$$

be the expansion of a formal solution $\varphi(z)$ of equation (2). Inserting (5) and (8) into (2) and comparing the coefficients we obtain

$$(\lambda_1\alpha + \lambda_2\alpha^2 + \dots + \lambda_m\alpha^m - s)b_1 = 0$$

and

$$(9) \quad (\lambda_1\alpha^n + \lambda_2\alpha^{2n} + \dots + \lambda_m\alpha^{mn} - s)b_n = \sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} c_t b_{n_1} b_{n_2} \dots b_{n_t}, \quad n = 2, 3, \dots$$

Noting that α is a root of (3), we see that $\lambda_1\alpha + \lambda_2\alpha^2 + \dots + \lambda_m\alpha^m - s = 0$. Hence we choose $b_1 = \eta$ and by (9) we get

$$(10) \quad (\alpha^n - \alpha) \left(\lambda_1 + \sum_{i=1}^{m-1} \sum_{k=0}^i \lambda_{i+1} \alpha^{n(i-k)+k} \right) b_n = \sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} c_t b_{n_1} b_{n_2} \dots b_{n_t}, \quad n = 2, 3, \dots$$

Now, we show that the power series (8) converges in a neighborhood of the

origin. First of all, since

$$\lim_{n \rightarrow \infty} \frac{1}{(\alpha^n - \alpha) \left(\lambda_1 + \sum_{i=1}^{m-1} \sum_{k=0}^i \lambda_{i+1} \alpha^{n(i-k)+k} \right)} = \begin{cases} -\frac{1}{s}, & 0 < |\alpha| < 1, \\ 0, & |\alpha| > 1, \end{cases}$$

there exists a positive number M , such that for $n \geq 2$,

$$\left| \frac{1}{(\alpha^n - \alpha) \left(\lambda_1 + \sum_{i=1}^{m-1} \sum_{k=0}^i \lambda_{i+1} \alpha^{n(i-k)+k} \right)} \right| \leq M$$

when either (H1) or (H2) is fulfilled. Thus if we define a sequence $\{B_n\}_{n=1}^{\infty}$ by $B_1 = |\eta|$ and

$$B_n = M \sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} B_{n_1} B_{n_2} \dots B_{n_t}, \quad n = 2, 3, \dots,$$

then in view of (10) and the inequality (7), we have

$$|b_n| \leq B_n, \quad n = 1, 2, \dots$$

Now we define

$$G(z) = \sum_{n=1}^{\infty} B_n z^n.$$

Since $G(0) = 0$, there is a positive number δ_1 such that $|G(z)| < 1$ for $|z| < \delta_1$. Then

$$\begin{aligned} G(z) &= \sum_{n=1}^{\infty} B_n z^n = |\eta|z + \sum_{n=2}^{\infty} B_n z^n \\ &= |\eta|z + M \sum_{n=2}^{\infty} \left(\sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} B_{n_1} B_{n_2} \dots B_{n_t} \right) z^n \\ &= |\eta|z + M \sum_{n=2}^{\infty} [G(z)]^n = |\eta|z + M \frac{[G(z)]^2}{1 - G(z)}. \end{aligned}$$

Hence

$$G(z) = \frac{1}{2(1+M)} \left\{ 1 + |\eta|z \pm \sqrt{1 - 2(1+2M)|\eta|z + |\eta|^2 z^2} \right\}.$$

But since $G(0) = 0$, only the negative sign of the square root is possible, so that

$$G(z) = \frac{1}{2(1+M)} \left\{ 1 + |\eta|z - \sqrt{1 - 2(1+2M)|\eta|z + |\eta|^2 z^2} \right\}.$$

It follows that the power series $G(z) = \sum_{n=1}^{\infty} B_n z^n$ converges for $|z| < \delta = \min \{ \delta_1; \frac{1}{|\eta|} (1 + 2M - 2\sqrt{M + M^2}) \}$, which implies that (8) is also convergent in a neighborhood of the origin. The proof is complete.

Next, we consider the case when (H3) holds.

LEMMA 3. Suppose (H3) holds. Furthermore, suppose $|\lambda_1| > \sum_{i=1}^{m-1} (i+1)|\lambda_{i+1}|$. Then the equation (2) has an analytic solution $\varphi(z)$ of the form (8) in a neighborhood of the origin such that $\varphi(0) = 0$ and $\varphi'(0) = 1$.

Proof. As in the proof of Lemma 2, we seek a power series solution of the form (8). Then defining $b_1 = 1$, (10) again holds so that

$$\begin{aligned} |b_n| &= \left| \frac{1}{(\alpha^n - \alpha)(\lambda_1 + \sum_{i=1}^{m-1} \sum_{k=0}^i \lambda_{i+1} \alpha^{n(i-k)+k})} \right. \\ &\quad \times \left. \sum_{\substack{n_1+\dots+n_t=n; \\ t=2,3,\dots,n}} c_t b_{n_1} b_{n_2} \dots b_{n_t} \right| \\ &\leq \frac{1}{|\alpha^{n-1} - 1| (|\lambda_1| - \sum_{i=1}^{m-1} (i+1)|\lambda_{i+1}|)} \\ &\quad \times \sum_{\substack{n_1+\dots+n_t=n; \\ t=2,3,\dots,n}} |c_t| |b_{n_1}| |b_{n_2}| \dots |b_{n_t}| \end{aligned}$$

for $n = 2, 3, \dots$. For convenience in writing, we put

$$N = \left(|\lambda_1| - \sum_{i=1}^{m-1} (i+1)|\lambda_{i+1}| \right)^{-1}.$$

Therefore, in view of (7), the above inequality becomes

$$|b_n| \leq \frac{N}{|\alpha^{n-1} - 1|} \sum_{\substack{n_1+\dots+n_t=n; \\ t=2,3,\dots,n}} |c_t| |b_{n_1}| |b_{n_2}| \dots |b_{n_t}|, \quad n = 2, 3, \dots$$

Let us now consider the function

$$G(z) = \frac{1}{2(1+N)} \left\{ 1 + z - \sqrt{1 - 2(1+2N)z + z^2} \right\},$$

which in view of the binomial series expansion can be written in the form

$$G(z) = z + \sum_{n=2}^{\infty} C_n z^n$$

for $|z| < 1 + 2N - 2\sqrt{N + N^2}$. Since $G(0) = 0$, there is a positive number

σ_1 such that $|G(z)| < 1$ for $|z| < \sigma_1$, and $G(z)$ satisfies the equation

$$G(z) = z + N \frac{[G(z)]^2}{1 - G(z)}.$$

By the method of undetermined coefficients, one can see that the coefficient sequence $\{C_n\}_{n=1}^{\infty}$ satisfies $C_1 = 1$ and

$$C_n = N \sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} C_{n_1} C_{n_2} \dots C_{n_t}, \quad n = 2, 3, \dots$$

Hence, we easily see that

$$|b_n| \leq C_n d_n, \quad n = 1, 2, \dots,$$

where the sequence $\{d_n\}_{n=1}^{\infty}$ is defined in Lemma 1. Indeed, $|b_1| = 1 = C_1 d_1$. Assume by induction that the above inequality holds for $n = 1, 2, \dots, l$. Then

$$\begin{aligned} |b_{l+1}| &\leq \frac{N}{|\alpha^l - 1|} \sum_{\substack{n_1 + \dots + n_t = l+1; \\ t=2,3,\dots,n}} |b_{n_1}| |b_{n_2}| \dots |b_{n_t}| \\ &\leq \frac{N}{|\alpha^l - 1|} \sum_{\substack{n_1 + \dots + n_t = l+1; \\ t=2,3,\dots,n}} C_{n_1} d_{n_1} C_{n_2} d_{n_2} \dots C_{n_t} d_{n_t} \\ &\leq \frac{C_{l+1}}{|\alpha^l - 1|} \max_{\substack{n_1 + \dots + n_t = l+1; \\ 0 < n_1 \leq \dots \leq n_t, t \geq 2}} \{d_{n_1} \dots d_{n_t}\} = C_{l+1} d_{l+1}, \end{aligned}$$

as desired.

Since $G(z)$ converges in the open disc $|z| < \sigma = \min\{\sigma_1; 1 + 2N - 2\sqrt{N + N^2}\}$, there is a positive A such that

$$C_n \leq A^n$$

for $n = 1, 2, \dots$. In view of this and Lemma 1, we finally see that

$$|b_n| \leq A^n (2^{5\delta+1})^{n-1} n^{-2\delta}, \quad n = 1, 2, \dots,$$

which shows that the series (8) converges for $|z| < (A2^{5\delta+1})^{-1}$. The proof is complete.

We now state and prove our main result in this note.

THEOREM. *Suppose the conditions of Lemma 2 or Lemma 3 are fulfilled. Then equation (1) has an analytic solution of the form (4) in a neighborhood of the origin, where $\varphi(z)$ is an analytic solution of equation (2).*

Proof. In view of Lemma 2 and Lemma 3, we can find a sequence $\{b_n\}_{n=1}^{\infty}$ such that the function $\varphi(z)$ of the form (8) is an analytic solution of (2) in a neighborhood of the origin. Since $\varphi'(0) = \eta \neq 0$, the function $\varphi^{-1}(z)$ is

analytic in a neighborhood of the point $\varphi(0) = 0$. If we now define $f(z)$ by means of (4), then

$$\begin{aligned}\lambda_1 f(z) + \lambda_2 f^{[2]}(z) + \dots + \lambda_m f^{[m]}(z) \\ = \lambda_1 \varphi(\alpha \varphi^{-1}(z)) + \lambda_2 \varphi(\alpha^2 \varphi^{-1}(z)) + \dots + \lambda_m \varphi(\alpha^m \varphi^{-1}(z)) \\ = F(\varphi(\varphi^{-1}(z))) = F(z)\end{aligned}$$

as required. The proof is complete.

We now show how to explicitly construct an analytic solution of an equation of the form (1) by means of an example. Consider the following equation

$$(11) \quad f(f(z)) - f(z) = F(z),$$

where $F(z) = e^z - 1 = \sum_{n=1}^{\infty} \frac{z^n}{n!}$. Obviously, the equation

$$z^2 - z - 1 = 0$$

has two roots

$$\alpha_1 = \frac{1 - \sqrt{5}}{2}, \quad \alpha_2 = \frac{1 + \sqrt{5}}{2}$$

and $0 < |\alpha_1| < 1$, $|\alpha_2| > 1$. For α_1 , by means of Lemma 2, the auxiliary equation

$$(12) \quad \varphi(\alpha_1^2 z) - \varphi(\alpha_1 z) = F(\varphi(z))$$

has an analytic solution $\varphi(z)$ in a neighborhood of the origin such that $\varphi(0) = 0$ and $\varphi'(0) = \eta \neq 0$. Let

$$\varphi(z) = \sum_{n=1}^{\infty} b_n z^n, \quad b_1 = \eta.$$

Inserting this series into (12) and comparing the coefficients, we get

$$(13) \quad (\alpha_1^n - \alpha_1)(\alpha_1^n + \alpha_1 - 1)b_n = \sum_{\substack{n_1 + \dots + n_t = n; \\ t=2,3,\dots,n}} \frac{1}{t!} b_{n_1} b_{n_2} \dots b_{n_t}, \quad n = 2, 3, \dots$$

It is not difficult to calculate the coefficients b_n by means of (13). Indeed the first few terms are as follows:

$$\begin{aligned}b_2 &= \frac{\varphi''(0)}{2!} = \frac{\eta^2}{4\alpha_1}, \\ b_3 &= \frac{\varphi'''(0)}{3!} = \frac{(2\alpha_1 + 3)\eta^3}{3! \cdot 6(3\alpha_1 + 2)}, \\ &\dots\end{aligned}$$

Next, recall from the proof of the above theorem that $\varphi^{-1}(z)$ is analytic in a neighborhood of the point $\varphi(0) = 0$. Therefore, its derivatives at $z = 0$

can also be determined by

$$\begin{aligned}
 (\varphi^{-1})'(0) &= \frac{1}{\varphi'(\varphi^{-1}(0))} = \frac{1}{\varphi'(0)} = \frac{1}{\eta}, \\
 (\varphi^{-1})''(0) &= -\frac{\varphi''(\varphi^{-1}(0))(\varphi^{-1})'(0)}{(\varphi'(\varphi^{-1}(0)))^2} = -\frac{\varphi''(0)(\varphi^{-1})'(0)}{(\varphi'(0))^2} = -\frac{1}{2\alpha_1\eta}, \\
 (\varphi^{-1})'''(0) &= -\frac{\{\varphi'''(\varphi^{-1}(0))[(\varphi^{-1})'(0)]^2 + \varphi''(\varphi^{-1}(0))(\varphi^{-1})''(0)\}[\varphi'(\varphi^{-1}(0))]^2}{[\varphi'(\varphi^{-1}(0))]^4} \\
 &\quad + \frac{\varphi''(\varphi^{-1}(0))(\varphi^{-1})'(0) \cdot 2 \cdot \varphi'(\varphi^{-1}(0))\varphi''(\varphi^{-1}(0))(\varphi^{-1})'(0)}{[\varphi'(\varphi^{-1}(0))]^4} \\
 &= -\frac{[\varphi'''(0)\eta^{-2} - \varphi''(0)\frac{1}{2\alpha_1\eta}]\eta^2 - \varphi''(0)\eta^{-1} \cdot 2 \cdot \eta\varphi''(0)\eta^{-1}}{[\varphi'(0)]^4} \\
 &= \frac{8\alpha_1 + 5}{12(5\alpha_1 + 3)\eta}, \quad \text{etc.}
 \end{aligned}$$

Finally, we determine a solution $f(z)$ of (11) by finding its derivatives at $z = 0$:

$$\begin{aligned}
 f(0) &= \varphi(\alpha_1\varphi^{-1}(0)) = \varphi(\alpha_1 \cdot 0) = 0, \\
 f'(0) &= \varphi'(\alpha_1\varphi^{-1}(0)) \cdot \alpha_1(\varphi^{-1})'(0) = \alpha_1\varphi'(0)(\varphi^{-1})(0) \\
 &= \alpha_1\eta \cdot \frac{1}{\eta} = \alpha_1, \\
 f''(0) &= \alpha_1^2\varphi''(\alpha_1\varphi^{-1}(0))[(\varphi^{-1})'(0)]^2 + \alpha_1\varphi'(\alpha_1\varphi^{-1}(0))(\varphi^{-1})''(0) \\
 &= \alpha_1^2\varphi''(0)\eta^{-2} + \alpha_1\varphi'(0)(\varphi^{-1})''(0) = \alpha_1^2\frac{\eta^2}{2\alpha_1} \cdot \eta^{-2} - \alpha_1\eta \cdot \frac{1}{2\alpha_1\eta} \\
 &= \frac{\alpha_1 - 1}{2}, \\
 f'''(0) &= \varphi'''(\alpha_1\varphi^{-1}(0)) \cdot [\alpha_1(\varphi^{-1})'(0)]^3 \\
 &\quad + \varphi''(\alpha_1\varphi^{-1}(0)) \cdot 2\alpha_1(\varphi^{-1})'(0) \cdot \alpha_1(\varphi^{-1})''(0) \\
 &\quad + \varphi''(\alpha_1\varphi^{-1}(0))\alpha_1(\varphi^{-1})'(0) \cdot \alpha_1(\varphi^{-1})''(0) \\
 &\quad + \varphi'(\alpha_1\varphi^{-1}(0)) \cdot \alpha_1(\varphi^{-1})'''(0) \\
 &= \frac{5\alpha_1 + 1}{12(3\alpha_1 + 2)}, \quad \text{etc.}
 \end{aligned}$$

Thus, the desired solution is

$$f(z) = \alpha_1 z + \frac{\alpha_1 - 1}{4}z^2 + \frac{5\alpha_1 + 1}{72(3\alpha_1 + 2)}z^3 + \dots$$

For α_2 , by means of the same method we can obtain

$$f(z) = \alpha_2 z + \frac{\alpha_2 - 1}{4} z^2 + \frac{5\alpha_2 + 1}{72(3\alpha_2 + 2)} z^3 + \dots$$

It is clear from the above procedure that with the help of commercial software which is capable of doing exact differentiations, an arbitrary number of terms of the above series can be obtained.

References

- [1] M. Kuczma, *Functional equations in a single variable*, Polish Scientific Publishers, Warszawa, 1968.
- [2] R. E. Rice, B. Schweizer and A. Sklar, *When is $f(f(z)) = az^2 + bz + c$?* Amer. Math. Monthly, 87 (1980), 252–263.
- [3] A. Mukherjea and J. S. Ratti, *On a functional equation involving iterates of a bijection on the unit interval*, Nonlinear Anal. 7 (1983), 899–908.
- [4] J. G. Dhomobres, *Itération linéaire d'ordre deux*, Publ. Math. Debrecen 24 (1977), 277–287.
- [5] W. Zhang, *Discussion on the iterated equation $\sum_{i=1}^n \lambda_i f^i(x) = F(x)$* , Chin. Sci. Bul. 32 (1987), 1444–1451.
- [6] W. Zhang, *Discussion on the differentiable solutions of the iterated equation $\sum_{i=1}^n \lambda_i f^i(x) = F(x)$* , Nonlinear Anal. 15 (1990), 387–398.
- [7] Si. Jian-Guo, *On the monotonic continuous solutions of some iterated equation*, Demonstratio Math. 29 (1996), 543–547.
- [8] J. Matkowski and W. Zhang, *Method of characteristic for functional equation in polynomial form*, Acta Math. Sin. New Series, 13 (1997), 421–432.

DEPARTMENT OF MATHEMATICS
 BINZHOU NORMAL COLLEGE
 BINZHOU, SHANDONG, 256604
 P. R. CHINA

Received February 25, 1998.

